PrC

5. INTERCOOLER ASSEMBLY - MODEL 2475 Parts For Compressor

All manufacturer’s names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed
is the product of these manufacturers. Since Approvement are made from time to time, the illustration and specifications are subject to change without notice.

www.partsforcompressor.com



PrC

5. INTERCOOLER ASSEMBLY - MODEL 2475 Parts For Compressor
No. | Description Ref Part No. | QTY
5-1 | Assembly, Intercooler 32499196 1
5-2 | - Intercooler 32499204 1
5-3 | — Nut, Tube -3/4" 95108577 2
5-4 | Connector, Tube 95083275 2
5-5 | Clamp, Intercooler 32247942 1
5-6 | Washer, Flat - 1/4" 95094298 2
5-7 | Lockwasher, Spring - 1/4" 32035479 2
5-8 | Nut, Hex - 1/4-20 95416335 2
5-9 | Connector, Tube 95082483 1
5-10 | Elbow, Tube 95031860 1
5-11 | Assembly, Tube - Breather 32247892 1
5-12 | Valve, Relief - 80 PSIG 72062185 1
5-13 | Filter, Inlet - Complete 32170953 1
5-14 | — Element, Filter - 10 Micron 32170979 1
5-15 | Tee, Male 32221228 1

All manufacturer’s names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed
is the product of these manufacturers. Since Approvement are made from time to time, the illustration and specifications are subject to change without notice.

www.partsforcompressor.com



	Page 1
	Page 2

